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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]

4 I 1 ] I I I
3500 + EcFZEXp : DOOOOOOOOOOOOOOOCOOOOOOOOOOOOOOOOOOLOOOOOOCOOOOOOOOOOOOOOOOLOOOOOOOOC LOOOOOOOOOOOOOOLOOOLOOOOOOOLOOOOOOT
3000 { ¢ FECdef !
—>— water_ec | “
2500 o i Litiieiitititiieiitititiietitoisiietiicistiictiicistiictiiciitiictsiciiisictiicisiictsiotiioietsiotiisediatiis
2000 I
1
1
1500 I
mooo?x !
1
1000 1
500 Warning: col [ EcFgro’, 'EcPItng:] is missing

0 25 50 75 100 125 150 175



Plot [’ ECopt’]

3500 7 —@— ECopt
3000 -
2500 -
2000 -
1500 -

1000

500 -

0 25 50 75 100 125 150 175



Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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09:55 294 150.0 |Z=| 1Ri&@09:55 Bz (KPBEEE)
10:30 294 150.0 (2 =| 1BRi%@10:30 Bz (kHAFERSE)
11:10 294 150.0 Bl BRigel1:10 Bz GREAERESE)
12:05 294 150.0 Bl Rige12:05 Bal (REAEESE)
13:00 294 150.0 | Ri%@13:00 Bz (REAERESE)
13:45 294 150.0 BS| 1Ri%e13:45 Bz (GGREMEESE)
15:00 294 150.0 S| Ri%@15:00 Bz (REERESR)
16:00 294 150.0 RS {Ri&e16:00 Bzl (REERSE)
249t 3528.0 (12%) 1800. 0 3EHKEC: 2080.0, PH: 5.6

FERNEREEFEBAT (191.0 : 138.0), AgEHF—@E XAH5
ZRIAEPRERE138.0 ml.

AEREREC (2535.0) S5i%EEC (2000.0) REL KA, B/E

[E);%EC 6265.0 K5, ZEiLHBIKECAEZ hEER

B RECE (2535. 0 vs 6265.0) 35



FRV (ml plant-1)

P3-13_0, Day=49 (2025-05-19)

R S et et el
VI, V0, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2292

T
N
o
o
o

100 - 1560 1500
1200

50 - 787 - 1000

60 00
Warning: lcol [FVI',| "FVO’'] missing

¢ o vi
200 + FRV

150 F=mmmmmmmmm e -
100 -

50 A

1.0

0.8 A

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

Bylnit @51 02:08: ET=1264 Fg=1656.0 Ro=450.0

- 2000

- 1000
100 -

ET (ml/hr/plant)

e W

— —_
0 [ 1 2 | 3 [ a5 ] 6] 789 JoJin[i12]@]114]15[16][17[ 18] 192072122723
o= || | PH | B |85 [BF | BE | B | s [BR | FE | R | B [ BE | FF | RS | B [ BE | BF | RS | B | HR
1 - 2000
ByEt @49 19:07: ET=1435 Fg=1656.0 Ro=nan ! -

=

3004 0 | 1 2 | 3 [ a5 6] 789 JoJit[i12]@]114]15[16][17[ 18] 19207212723
2n|%2= | | | BB | B[ |ZZ|2= |2z BB | K | & | i [BB | K | K |6 (BB | K | K |8 |6

I
ByWoFv QD51 02:08: ET=1322 Fg=1800.0 Ro=472.0

300 1

200

- 1000
100 -

ET (ml/hr/plant)

- 2000

o0

200

- 1000
100 -

ET (ml/hr/plant)

1
1
1
i
1
1
p— Sl—

1.0 A
0slBZE|BE|Z=| W | W | B | |1 |B-18752 % | % | | m | & | % | m | & |m®|®|®

0.6

0.4+

0.2~

2000 5

—_— 4
o | _obs
—@— PPFD obs

1500 ~

1000

500 ~

30 -

20 A

10 ~

80 A

60
RH
40 - [ ] RH_obs

[ ) RHo_obs

34 e vpD ¢

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



38.

38.

37.

37.

37.

37.

37.

m=4350, FV0=0 m=500, FV0=0 m=560, FV0=0

—&— ME —&— ME 36. 75 —&— ME
35.0 - 36.27
36. 50 -
36. 0
34.5 - 36. 25 A
35.8 36. 00 4
34.0 -
35. 6 35. 75 A
33.5 A 35. 4 4 35. 50 -
33 - T T T T T T T T T 35. 25 - T T T
600 800 1000 450 455 460 500 505 510 560 565 570
m=610,m FV0=0 m=650,m FV0=0 m=685,m FV0=0 m=730,m FV0=0
37.75 A
00 - —&— ME | —&— ME 37 4 4 —-@— ME - ME
37.25 37. 50 A
.75 4 37.2 4
37.00 A 37. 25 A
.50 A 37.0 -
36. 75 A 37.00 A
. 25 A 36. 8
36. 50 36. 75 A
.00 4 ’ 36. 6
36. 50 -
36. 25 -
T T T T T T T T T T T T
610 615 620 650 655 660 685 690 695 730 735 740
m=770,m FVO=0 m=810,m FV0=0 m=855,m FV0=0 m=915,m FV0=0
38. 25 1
.75 4+ —@— M_E —-@— ME —@— ME - ME
37.75 A 38.0 A
: 38. 00 A
907 37.8 -
37. 50 A 37.75 A
. 25 A 37.6
37. 25 A 37.50 ~
.00 ~ 37. 4 A
37.00 - 37. 25 1
.75 4 37.2
i 37. 00 -
50 - 36.75 37.0 -
T T T T T T 36' 75 - T T T T T T
770 775 780 810 815 820 855 860 865 915 920 925
m:965,m FV0=0 m m:450,m FV0=0 m:500,m FV0=0
21 - ME 5104 ~® MW 52.01 - MW
04 52
50. 5 + 51.5 A
&1 51 -
6 - 50. 0 A
51.0 A
4 50 - 49.5 -
2 _
49 1 49.0 50.5 -
04 —0— MW
T T T T T T 48.5 - T T T T T T
965 970 975 600 800 1000 450 455 460 500 505 510



52.

51.

51.

50.

50.

52.

51.

51.

50.

50.

52.

51.

51.

50.

50.

m=560, FV0=0

—— MW

560

T T
565 570

m=730,m FV0=0

—— MW

730

T T
735 740

m=915,m FV0=0

—— MW

915

920 925

52.

51.

51.

50.

50.

52.

52.

51.

51.

50.

50.

52.

52.

51.

51.

50.

m=610, FV0=0

—— MW

610

T T
615 620

m=770,m FV0=0

—— MW

770

T T
775 780

m=965,m FV0=0

—— MW

965

970 975

52.

52.

51.

51.

50.

50.

52.

52.

51.

51.

50.

50.

m=650, FV0=0

—— MW

650

T T
655 660

m=810,m FV0=0

—0— MW

810

815 820

52.

52.

51.

51.

50.

52.

52.

51.

51.

50.

m=685, FV0=0

—0—

M_w

685

T T
690 695

m=855,m FV0=0

—0—

M_W

855

860 865
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P3-13

BfiE) | EBIETK (FD) | EB=E (EH/) | XK R

08:00 300 150.0 [Z=| 1Ri%e08:00 Bz (RF{EREEE)
08:30 300 150.0 |Z=| 1Ri&@08:30 Bz (FKAEEEE)
09:50 300 150.0 |Z=| 1Ri%e09:50 Bz (RFE{REEE)
11:10 300 150.0 Bl Rige11:10 Bz (REAERE)
12:30 300 150. 0 S| Ri%e12:30 B (RF{EREE)
13:50 300 150.0 (Z=| 1Ri%@13:50 Bzh (GREBERSE)
15:05 300 150.0 (2 =| 1Ri%e15:05 Bz (kBFERSE)
23t1]2100.0 (70%) 1050. 0 32 HKEC: 2080.0, PH: 5.6

TERRHLER 2 STEEARTF (195.0 :

PRIAEBRIERE141.0 ml.

B RECE (2665. 0 vs 6190.0) 5

141.0), AlEEHT—R L XA HS

AEREMEC (2665.0) 5i%EEC (2000.0) RELK KA, /T
[E&EC 6190.0 K5, #iYF{KECAE&FikER




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-13_0, Day=48 (2025-05-18)

150 Fo—————F——————F——————F——————F——————F——————F——————F-—————f——— - f———_—]
VI, VOFRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1990 o
100 41100 £ 1200 B1pg
50 A 60 - 500
190 Warning: lcol [FVI',| "FVO’'] missing
0 - 08
(¢ —_ ME P
200 maxM 36
____________ "
100 4 - 34 =
- 32
1.0
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
Bylnit @D51 02:08: ET=1378 Fg=1800. 0 Ro=438.0 t
- 2000
200 A @ ®
. 2 ©
100 - - 1000
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 EZR;‘_Zﬁgi 22 23 0
N I 2 T 0 0 0 0 20 0
1 - 2000
200 1 ByEt @D48 18:57: ET=1098 Fg=1128.0 Ro=nan :
1
100 - 2228 liowo
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
g i |Z=| M g g fg FTERERER L ERE A E R E AR E A EREA EE A E A EREEEAEES
1 - 2000
200 1 ByWoFv QD51 02:08: ET=821 Fg=1050.0 Ro=273.0
1
1
100 - : 4  — — L 1000
1
1 \
1 O—t:::’ A—J!i 2 a 0
) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
08_HE i |Z=| M g g fg FTERERER L ERE A E R E AR E A ERE EE A E A EREEEAEES
0.6 -
0.4 1
0.2 A

2.0 1 ‘. ® VP
°

|
| _obs
PPFD_obs

hour

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



36.

36.

35.

35.

37.

37.

36.

36.

36.

36.

51.

51.

50.

50.

49.

49.

m=435, FV0=0

T T T
400 600 800 1000

T T
440 445

m=740,m FV0=0

m=670,n FV0=0
—&— ME
6%0 6;5 6é0

m=935,m FV0=0

—o— M_E

i

935 9&0 9&5
m=585,n FV0=0

N

-— MW

il

660 860
m=670,n FV0=0

585 590 595

675 680

35.

35.

35.

35.

34.

34.

36.

36.

36.

36.

35.

35.

35.

50.

49.

49,

48.

48.

47.

47.

1000

52.

51.

51.

50.

50.

49.

m=485, FV0=0

75 -

50 -

25 A

00 ~

75 -

50 A

4é0 465
m=805,n FV0=0

75 4

50 -

25 A

00 ~

75 -

50 -

25 -

8i0 8%5
m=435,n FV0=0

440 445
m=740,m FV0=0

——

745 750

36.

36.

35.

35.

35.

35.

34.

36.

36.

35.

51.

50.

50.

49.

49.

52.

51.

51.

50.

50.

m=585, FV0=0
—e— ME
585 590 595
m=885,m FV0=0
—— ME
885 890 895
m=485,m FV0=0
—— MW
485 490 495
m=805,m FV0=0

- MW

iiiy

805 810 815




m=885, FV0=0

52.0 -

51.5 -

51.0 A

50. 5

50. 0 -

49.5

——

M_W

885

T
890

T
895

m=935, FV0=0
52.5 4 e MW
52.0 A
51.5 4
51.0 A
T T T
935 940 945
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P3-13

AyiE) | EBIATK (FD) | EBE (BEH/HK) | XHR SRR

07:50 294 150.0 (2 =| 1BRi%e07:50 Bz (kHBHERSE)
08:15 294 150.0 |Z=| 1Ri&e08:15 Bzl (KPB{EEEE)
09:20 294 150.0 |Z=| 1Ri&@09:20 Bzl (kEA{EEEE)
10:15 294 150.0 (2 =| 1BRi%e10:15 Bz (kAFERSE)
11:20 294 150.0 BE| BRi%el1:20 Bz (GGREAERESE)
12:35 294 150.0 S| Rige12:35 Bz (REERSR)
13:35 294 150.0 | Ri%@13:35 Bz (REAERESE)
14:45 294 150.0 BS| 1Ri%e14:45 Bz CGREAMEESE)
23t 2352.0 (8%) 1200. 0 3233 %EC: 2080.0, PH: 5.6

TERRHLER 2 STEELRT (191.0 :

PRIAEBRIERE141.0 ml.

H[E]RECE (2660. 0 vs 5730.0) 5

141.0), AlEEHT—R L XA HS

AEREMEC (2660.0) 5i%EEC (2000.0) RMELK KA, /T
[E&EC 5730.0 K5, #iYF{KECAE&MikE R




P3-13_0, Day=47 (2025-05-17)

150 A

100 A

50

FRV (ml plant-1)

V1, VBP®RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

1400
169 1100 1128

194 Warning: lcol [FVI',| "FVO’'] missing 190

0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5.6 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
S 300 + By lnit @iD51 02:08: ET=1417 Fg=1800.0 Ro=458.0 t o
5 ! - 2000 £
<2 200 - | N
< " =
\ ~—
= I L 1000
~ 100 - : L
o 1 3
0 —_——a ‘L: 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
o~ 301 M [2=|8=|2=| B | B | B | B | B | B i 5 | BB B | BB | BB 5 5 i 5 5 5 i 5 )
= 1 - 2000 €
= ByEt @D47 19:06: ET=1126 Fg=1128.0 Ro=nan I =
1 o
2200 - ! 2
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= - 1000
E 100 4 . : ""_é
[ >
L \ 1 o
o 1
0 P —2 : f - ® a I\I\ S 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
3300‘ BH |25 |55 B | B | 2525|2525 B 5 5 i 5 5 5 i 5 5 5 i 5 )
= 1 - 2000 €
% ByWoFv @D51 02:08: ET=991 |Fg=1200. 0 Ro=293.0 %_
<200 - | <
< " =
\ ~—
= 1 - 1000
100 - : | P N , .
o 1 3
o —o o ——o—o—o - e
1.0 pb—ma—al ___a — 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
08l M S| |2E5|2=5| B | B |25|Z2=|2=5|%25| B 5 5 i 5 5 5 i 5 5 5 i 5
0.6 -
0.4 1
0.2 A
0.0
2000 1 | "

| _obs
PPFD_obs




m=495, FV0=0 m=545, FV0=0 m=610, FV0=0

36. 25

35.0 - . M_E - M_E 36.5 1 - M_E
36. 00 -
34.5
35. 75 A 36.0 -
34.0 A 35. 50 A
35. 25 A 35.5 A
33.5 1
35. 00
33.0 A 34. 75 - 35.0 A
T T T T T T T T T T T T T T
500 600 700 800 900 495 500 505 545 550 555 610 615 620
m=675,m FV0=0 m=745,m FV0=0 m=805,m FV0=0 m=865,m FV0=0
50 —@— ME —— ME —o— ME 3.0y o &
' 36. 5
25 36.5 -
36.5 A
.00 ~ 36. 0
36.0
.75 1 36.0
50 - 35.51
35. 5 1
.95 - 35.5 -
35.0 A
T T T T T T T T T T T T T
676 678 680 682 745 750 755 805 810 815 865 870 875
m=925,m FV0=0 m m=495,m FV0=0 m=545,m FV0=0
37.04 —®— ME 51 - 07 e ww 51.0 - - MW
50 - 49 50. 5
36.5
49 - 50. 0 A
36.0 8
) 48 - 49.5 A
47 47 4
35 5 _ + M_W 49 0 .
925 930 935 500 600 700 800 900 495 500 505 545 550 555
m=610,m FV0=0 m=675,m FV0=0 m=745,m FV0=0 m=805,m FV0=0
50.0
.0+ -@— MW 51,04+ —@— MW -@— MW 50. 5 A -@— MW
49. 5
50.5 1 50. 5 A 50. 0 A
i 49. 0
50.0 50.0 - 49. 5 1
49. 5 48. 5
49.5 - 49.0 A
49. 0 48.0 -
49. 0 A 48. 5 1
48 5 L T T T T T T T 47 5 T T T T T T
610 615 620 676 678 680 682 745 750 755 805 810 815



m=865, FV0=0 m=925, FV0=0

1 —@— MW —0— MW

50.5 51.0 A

50. 0 A 50,5 -

49. 5 ~
50. 0

49.0 A
49.5 A

48.5 A
49. 0 A

48. 0

T T T 48.5 T T T
865 870 875 925 930 935



